04 12 28

G )
1
2
3
12,53 | 12,53 | o | o | 0
H31 RS
36.7% H3L 1006 RS
3T 100%
770km 5 49km
72.6% H31 77.5% RS
73% 78%
H10.8.4 0 1 50/
69% H3L 1006 RS
69% 100%
27 3 A-2-31 34 35 38 30 41 42 45 68 70 46 48 51 52 53 54 55 56 57 59 60




H31 |Ro2 [R03 [RO4 [ROS

A07-001 n n n n n 1,231
A-2-31

A07-002 [ [ [ [ [ 11
A-2-34

A07-003 [ [ [ [ [ 324
A-2-35

A07-004 [ ] 5
A-2-38

A07-005 n n n n n 1,784
A-2-39

A07-006 [ [ [ [ 528

A-2-41




H31 |Ro2 [R03 [RO4 [ROS

A07-007 | B B 16
A-2-42

A07-008 [ [ [ [ [ 105
A-2-45

A07-009 n n n n n 1,951 (1.00
A-2-68

A07-010 | | u | | 310|1.00
A-2-70

A07-011 [ [ [ [ [ 98
A-2-46

A07-012 [ [ [ [ [ 236

A-2-48




H31 |Ro2 [R03 [RO4 [ROS

A07-013 [ [ [ [ [ 21
A-2-51

A07-014 [ [ [ [ [ 606
A-2-52

A07-015 [ [ [ [ 71
A-2-53

A07-016 [ [ [ [ [ 192
A-2-54

A07-017 [ [ [ [ 450
A-2-55

A07-018 [ [ [ [ [ 107

A-2-56




H31 |Ro2 [R03 [RO4 [ROS

A07-019 [ [ [ [ 11
A-2-57

A07-020 [ [ [ [ 73
A-2-59

A07-021 [ [ [ [ [ 139
A-2-60

A07-022 [ I B 403
A-2-61

A07-023 [ [ [ [ 561
A-2-62

A07-024 [ [ [ [ 543

A-2-63




H31 |Ro2 [R03 [RO4 [ROS

A07-025 n n n n n 2,664
A-2-64
A07-026 [ ] 59
A-2-65
A07-027 [ [ [ [ [ 36
A-2-67
] ] ] 12,535 |

12,535|




H31 RO2 RO3 RO4 RO5
@ 1,780 960 843 829 1,103
() 0 0 0 0 0
(c=atb) 1,780 960 843 829 1,103
@ 0 892 733 803 406
(e) 888 1,119 773 1,226 681
) 892 733 803 406 828
0 0 0 0 0
(h = ct+d-e-f) 0 0 0 0 0
(i = (gth)/(ctd)) 0 0 0 0 0
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